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He is afraid he can't generate much interest for the job. generate means ................. .

produce fire narrow limit

1-

1. 2. 3. 4.

The most overlooked skill of successful change agents is the ability to determine how much

changes employees can withstand. withstand means ................ .

improve resist behave increase

2-

1. 2. 3. 4.

Proper integration of all these groups is necessary for a quality innovation to be produced on time.

integration means ............. .

joining leaving refusing finding

3-

1. 2. 3. 4.

Some workers were inhibited from speaking by the presence of more managers. inhibit means

................ .

convince interest examine prevent

4-

1. 2. 3. 4.

The purpose of modifications is to increase organizational effectiveness. modification means

................ .

change manufacture refuse advantage

5-

1. 2. 3. 4.

If the economic stagnation in many countries is to be overcome, trade needs to be increased

between industry and developing nations.  stagnation means .............. .

profession of engineer production of things

examination of subjects lack of development

6-

1. 2.

3. 4.

He is a new breed of manager whose performance seems necessary. breed means ................. .

context point action kind

7-

1. 2. 3. 4.

This confrontation between the two groups leads to fighting. confrontation means ................. .

the act of facing the result of testing

the making of things the determination of goal

8-

1. 2.

3. 4.

The unemployment rate in the undeveloped countries has risen.  rate means .................. .

store profit plant pace

9-

1. 2. 3. 4.

We need to make sure that we exploit our resources as fully as possible. exploit means

.................. .

pay well make less use well make possible

10-

1. 2. 3. 4.
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The current structure does not facilitate efficient work flow.facilitate means...........

make difficult give information

give advice make easier

11-

1. 2.

3. 4.

Unemployment is a(n)................... problem which won't just disappear overnight.

remedial accurate rational stubborn

12-

1. 2. 3. 4.

Many employees, a)er 20 years working, are taking early ................... .

exploitation fulfillment competition retirement

13-

1. 2. 3. 4.

They are expecting a large ................... at the meeting.

regulation sequence precaution attendance

14-

1. 2. 3. 4.

Structural change is aimed at increasing organizational ..................... through modifications to the

existing organizationalstructure.

effectiveness empowerment succession movement

15-

1. 2. 3. 4.

The workers were ................. to considerable danger.

exposed integrated refined intrigued

16-

1. 2. 3. 4.

Modern weapons have an extremely high ................. power.

exploitative destructive collaborative integrative

17-

1. 2. 3. 4.

They offer her a comprehensive training in all aspects of the business. comprehensive means .......

uncertain growth quality complete

18-

1. 2. 3. 4.

The two companies worked in close ..................... with each other on the new project.

collaboration translation compensation transaction

19-

1. 2. 3. 4.

The management have offered employees one week ................. for each six months they have

worked at the company.

community severance authority assistance

20-

1. 2. 3. 4.

It is an important development or discovery that helps to provide an answer to a problem. it refers

to .................. . 

expertise expenditure feedback breakthrough

21-

1. 2. 3. 4.
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It is a list of the people employed by a company showing how much one earns. it refers to

.................. .

barrier expert benefit payroll

22-

1. 2. 3. 4.

It is a plan of how much money to take in and how to spend it . it refers to ................. .

budget store pension salary

23-

1. 2. 3. 4.

It is the process of assessing the quality of an employees job performance and communicating

those findings to the employee. it refers to ................. .

working condition employee evaluation

strategic planning idea generation

24-

1. 2.

3. 4.

It means that managers put aside the hierarchial authority structure and let employees play a

greater role in decision making. it refers to ....................... .

performance appraisal sensitivity training

collaborative management transactional analysis

25-

1. 2.

3. 4.

The company decentralized its operations last year and opened several regional offices.

decentralize means ................ .
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26-

1. 2. 3. 4.

A high rate of innovation often reduces short-term profitability. reduce short-term profitability

means ................ .
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27-

1. 2.

3. 4.

He works for a recruitment consultancy in Shiraz. recruitment  means ............ .
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28-

1. 2.

3. 4.

His task assignment was to collect unclear evidence for investigation. task assignment means

................. .
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29-

1. 2. 3. 4.
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The employers have a process consoltation to decide whether to increase their worker's wages.

process consoltation means .......
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30-

1. 2.

3. 4.
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